





























A5 Striking PERI

Setting down

Fig. A5.02

IS l'
L

SRS Circular Column Formwork
Instructions for Assembly and Use — Standard Configuration

17



B1 Available Panel Sizes PERI

Table
Height and diameter of the SRS
Column Panels

Panel Diameter d [em]

Height

H[m] 25 | 30 | 35 | 40 | 45 | 50 | 55 | 60 | 65 | 70
3.00 X X X X X X X X X X
2.40 X X X X X X X X X X
1.20 X X X X X X X X X X
0.30 X X X X X X X X X X
H [m] 0.49 | 054 | 059 | 0.64 | 0.69 | 0.74 | 0.79 | 0.84 | 0.89 | 0.94

d = Column diameter
H = Dimension for locating board

»|
gl

o o o

=)
')
|

»
jt}

o

o o o
o o o
LB

o o o
o o o

3,00 m
o o o ofo o o o

o o o

§
7
.
¢
M
=

o o o
o o o

o o (o] o o o o o
1,20 m

o o o

=

Ou '0
o o
o b i

SRS Circular Column Formwork
18 Instructions for Assembly and Use — Standard Configuration

0,30 m
BLeALN

|t
[




B2 Connection to TRIO Panel Formwork PERI
or RUNDFLEX Circular Formwork

Adapter Strip SRS-TRIO %

Stopend formwork on the TRIO wall
formwork is erected with help of the
Adapter Strip SRS - TRIO and the Align-
ment Coupler BFD.

o &&\ Centre point of the circular
column

Edge i

Tcm

TRIO Element \

When using TRIO panels with tie holes ° =
in the edge profile, the tie hole could e =
possibly be covered by the precentring ﬁ g

of the circular column in individual cas-

es.

We recommend using the TRIO Wall
Thickness Compensator WDA 6-2.

7 T

Assembly:

1. Clamp the Adapter Strip SRS -TRIO
(17) on the side of the formlining re-
cess between the TRIO element and
the Circular Column Panel.

2. Install Plugs @ 20/24, Item no.
030300 in the column panel. (Fig.
B2.01) The straight wall is extended
thereby by 1 cm.

(Fig. B2.01.1)

3. Connect both elements by means of Fig. B2.01 Fig. B2.01.1
the Alignment Coupler BFD (16). The
number of Alignment Couplers BFD
corresponds to the number of Tie
Yokes.

(Fig. B2.02)

16

Fig. B2.02

SRS Circular Column Formwork
Instructions for Assembly and Use — Standard Configuration 19



B3 Push-Pull Props

Required Push-Pull Props and their at-
tachment points with a positioning angle

of

60°.

(Fig. B3.01 + B3.02)

With increased requirements, main-
tain angle tolerances according to DIN
18202.

Through placing on both sides of
Push-Pull Props and attachment of the
Push-Pull Prop in the top Push-Pull
Prop Connection of the extended col-
umn.

Kicker Brace is not required if locating
boards are used.

With Access Ladder

PERI

Required Push-Pull Props RS and Kicker Braces depending on the formwork
height.

Height of
formwork
[m]

RS 300

Push-Pull Props
RS 450

RS 650

RS 210

Kicker Brace

RS 300

RS 450

2.40

A

2.70

A/B

3.00

A

3.30

A

3.60

3.90

4.20

|0 |

XXX |[X X

4.50

4.80

5.10

5.40

XXX X

5.70

X

6.00

lvelivelivviivelivelivy)

X

Required Push-Pull Props RSS and Kicker Braces depending on the formwork
height.

Height of
formwork
[m]

RSS |

Push-Pull Props

RSS I

RSS Il

RS 1000

Kicker

AV 210

Brace

Kicker Brace
for RSS Il

2.40

2.70

3.00

3.30

>|>|> >

3.60

3.90

4.20

>

||| >|>

4.50

XXX XX XXX

4.80

5.10

5.40

5.70

0|00 |00 |o| 0

XXX X

6.00

X*

* Kicker Brace with separate Base Plate
fixed in position with dowels.

X A B
/ ; (S
N e - Free 2 oo 9 e 2
i i A A i 1
v_a‘@/ Y \ﬁ v_a‘i@/ AL ri— il © {rm—
L Top column element
< > -
= largest element of the complete column
Fig. B3.01
Without Access Ladder
X A B
/ g 2 g
1e°g° Fpe="2 == 1 < S
)Y ‘gl g (T é] ?!% )Y g (T
V—H‘K“/ Faisy ju— 45 \ﬂj’u - S dh WV © o
Bottom column element > < J
= largest element of the complete column
Fig. B3.02
SRS Circular Column Formwork
20 Instructions for Assembly and Use — Standard Configuration



B4 Parts List for Ladder Access

With access possibility

PERI

ltem no. | Description 270 m - 3.90 m - 450 m - 6.00 m - 780 m - 9.60 m -
3.60 m 420 m 5.70 m 750 m 9.30 m 10.80 m
045210 Circular Column Platform 1 1 1 1 1 1
051410 Ladder 180/6 2 2 3 4 5 6
103724 End Ladder 180/2 1 1 1 1 1 1
103417 Access Handrail SRS 1 1 1 1 1 1
051450 Ladder Safety Cage 150 1 1 2 3 4 5
104132 Ladder Safety Cage 75 0 1 2 2 2 2
051460 Ladder Base 1 1 1 1 1 1
103718 Ladder Hook 2 2 2 2 2 2
104196 Ladder Holder SRS 2 2 2 2 2 2
103374 Ladder Connector SRS 2 2 3 4 5 6
Without access possibility
e Seeriem 270 m - 3.90 m - 450 m - 6.00 m - 780 m - 9.60 m -
3.60 m 420 m 5.70 m 750 m 9.30 m 10.80 m
045210 | Circular Column Platform 0 0 0 0 0 0
051410 Ladder 180/6 2 2 3 4 5 6
103724 End Ladder 180/2 0 0 0 0 0 0
103417 | Access Handrail SRS 0 0 0 0 0 0
051450 Ladder Safety Cage 150 0 1 2 3 4 5
104132 Ladder Safety Cage 75 1 0 1 1 1 1
051460 Ladder Base 1 1 1 1 1 1
103718 Ladder Hook 2 2 2 2 2 2
104196 Ladder Holder SRS 0 0 0 0 0 0
103374 Ladder Connector SRS 2 2 3 4 5 6
SRS Circular Column Formwork
Instructions for Assembly and Use — Standard Configuration 21



SRS Circular Column Formwork

ltem no. Weight kg

PERI

Circular Column Panels B X Y
045010 23,200  Circular Column Panel 325 cm h=0.3 m 620 290 200
045011 63,000 Circular Column Panel 325 cm h=12m 620 290 200
045012 98,900 Circular Column Panel 325 cm h=2.4m 620 290 200
045013 120,000 Circular Column Panel 325 cm h=3.0 m 620 290 200
045020 25,200 Circular Column Panel 330 cm h=0.3 m 670 310 210
045021 67,700  Circular Column Panel @30 cm h=12m 670 310 210
045022 107,000 Circular Column Panel 330 cm h=24m 670 310 210
045023 130,000 Circular Column Panel 330 cm h=3.0 m 670 310 210
045030 26,400 Circular Column Panel 335cm h=0.3m 720 340 210
045031 71,500 Circular Column Panel 335cm h=12m 720 340 210
045032 114,000 Circular Column Panel 35 cm h=24m 720 340 210
045033 139,000  Circular Column Panel 335 cm h=3.0 m 720 340 210
045040 28,400  Circular Column Panel 340 cm h=0.3 m 770 360 230
045041 76,300 Circular Column Panel 340 cm h=12m 770 360 230
045042 123,000 Circular Column Panel 340 cm h=24m 770 360 230
045043 150,000 Circular Column Panel 340 cm h=3.0 m 770 360 230
045050 31,000  Circular Column Panel @45 cm h=0.3 m 820 390 250
045051 82,000  Circular Column Panel @45cm h=12m 820 390 250
045052 132,000 Circular Column Panel 345 cm h=24m 820 390 250
045053 161,000 Circular Column Panel 345cm h=3.0 m 820 390 250
045060 32,800 Circular Column Panel 350 cm h=0.3 m 870 410 240
045061 86,500 Circular Column Panel 350 cm h=12m 870 410 240
045062 140,000 Circular Column Panel 350 cm h=2.4 m 870 410 240
045063 171,000 Circular Column Panel 350 cm h=3.0 m 870 410 240
Circular column panel made of steel. With captive ~ Note
column bolt. Item no. and weight are per column element
(half-shell).
Technical Data
Load-bearing point capacity 1.0 t.
045200 4,070  Adapter Strip SRS-TRIO | = 3,00 m

For connecting SRS circular column elements with

TRIO panel formwork. Made of aluminium.

[Cccccccccccccccccccccccscccss]

b

3000 |
J

22



SRS Circular Column Formwork PERI

[tem no. Weight kg

045210 135,000  Circular Column Platform 25-70, compl. Complete with
Working and concreting platform for SRS Steel 1 pc. 045211 Circular Column Landing 25-70
Circular Column @ 25 cm up to 70 cm. 4 pc. 037430 Platform Guardrail 134, galv.

045211 67,000 Circular Column Landing 25-70 Technical Data
Fits every circular column cross-section from Permissible load 150 kg/m2.
@ 25 cm to 70 cm in 5 cm increments.

)
o
[o[ ]l

130

1472

2

(o] o
(o] o
EM; gl
L 1554 J 213
037430 17,700  Platform Guardrail 134, galv.
As guardrail for PERI Concreting Platforms. Locks
in place automatically.
4 v N

1005

1305

150

=
I

1340

3 =

50

i B

23



SRS Circular Column Formwork PERI

ltem no. Weight kg
051410 11,700 Ladder 180/6, galv. Complete with
As access for PERI formwork systems. 4 pc. 710224 Bolt ISO 4017 M12 x 40-8.8, galv.
4 pc. 710381 Nut ISO 7042 M12-8, galv.

VSW“’L 5 x 298 = 1490 J 83
‘ 1960
O [} 3 3
051460 2,180 Ladder Base, galv.
As bottom ladder connection and for securing
ladders against sliding on the scaffold decks.
405 50
103724 10,400 End Ladder 180/2, galv. Complete with
As access for PERI formwork systems. 4 pc. 710224 Bolt ISO 4017 M12 x 40-8.8, galv.
4 pc. 710381 Nut ISO 7042 M12-8, galv.
A A A fr"\\I
L A\~ ~
L 298 L 1200
‘ 1885
O [
103417 14,100 Exit Handrail Post SRS 134, galv.
For circular column landings 25-70. 1 for each
access. Locks in place automatically.
7N

1305

| L1s0

| T‘
550 '

1340

50

=+
S =

24



SRS Circular Column Formwork PERI

[tem no. Weight kg

103718 0,684  Ladder Hook, galv. Complete with
For adjusting the bottom ladder. 2 pc. 710266 Bolt ISO 4017 M12 x 25-8.8, galv.
Always use in pairs. 2 pc. 710381 Nut ISO 7042 M12-8, galv.
8 SW 19
103374 9,710  Ladder Connector SRS, galv. Complete with
For connecting ladders to SRS circular column ele- 2 pc. 701763 Clamping Plate Fl 25 x 10 x 90
ments up to @ 70 cm. 1 pc. 710266 Bolt ISO 4017 M12 x 25-8.8, galv.

453

=
450
| : 3
L ¢ |
o o |
=
50

992

i B

104196 0,698 SRS Ladder holder Complete with
For fixing access ladders to the SRS access 1 pc. 701763 Clamping Plate FI 25 x 10 x 90
handrail. 1 pc. 710266 Bolt ISO 4017 M12 x 25-8.8, galv.

2 for each ladder.

% (Cold 1=

Ladder Safety Cages, galv. Complete with
104132 15,600 Ladder Safety Cage 75, galv. 4 pc. 710266 Bolt ISO 4017 M12 x 25-8.8, galv.
051450 25,200 Ladder Safety Cage 150, galv. 4 pc. 701763 Clamping Plate FI 25 x 10 x 90

Ladder safety cage for PERI access ladders.

710
| — SW19

an

704

7
750 /1500

25



SRS Circular Column Formwork PERI

ltem no. Weight kg

117466 10,600  Push-Pull Prop RS 210, galv. Note
Extension length L = 1.30 = 2.10 m. Permissible load see PERI Design Tables.
For aligning PERI formwork systems and precast
concrete elements.

| min 1300 max 2100

118238 12,200  Push-Pull Prop RS 260, galv. Note
Extension length L = 2.30 — 2.60 m. Permissible load see PERI Design Tables.
For aligning PERI formwork systems and precast
concrete elements.

| min 2300  max 2600 )
‘ 48,3 ‘
— — m— N i Ol
021 S o
2178

\r -

o606 |

117467 15,500  Push-Pull Prop RS 300, galv. Note
Extension length L = 1.90 — 3.00 m. Permissible load see PERI Design Tables.
For aligning PERI formwork systems and precast
concrete elements.

| min 1900 max 3000 |
‘ 48,3 ‘
b arase=:ic;oJ}
21 —S > @17

. 1773 N
] B— >
E ———p——

@64,5

117468 23,000  Push-Pull Prop RS 450, galv. Note
Extension length L = 2.80 — 4.50 m. Permissible load see PERI Design Tables.
For aligning PERI formwork systems and precast
concrete elements.

| min 2800 max 4500 )
N |
” ~— o017
| 2670 )

Q73

26



SRS Circular Column Formwork

[tem no. Weight kg

PERI

117469 40,000  Push-Pull Prop RS 650, galv. Note
Extension length L = 4.30 — 6.50 m. Permissible load see PERI Design Tables.
For aligning PERI formwork systems and precast
concrete elements.
| min 4300 max 6500 |
o |
==k =
021 g 217
. 4140 ©
\
o - Ny
=7 —7
028990 115,000  Push-Pull Prop RS 1000, galv. Note

Extension length L = 6.40 — 10.00 m.
For aligning PERI formwork systems.

Permissible load see PERI Design Tables.

| min 6325 max 10000 |

‘ 0183 s S AL ‘

(o] = = [oJ3I®
o1 =1 = g

2102

103800 271,000

Push-Pull Prop RS 1400, galv.
Extension length L = 6.40 — 14.00 m.
For aligning PERI formwork systems.

Note
Permissible load see PERI Design Tables.
Chain can be operated from bottom.

min 6400 max 14000

[*] —a [+7=Y

6290

T E —
Ll
P
Jl;' —r

27



SRS Circular Column Formwork
ltem no. Weight kg

PERI

117343 3,250 Base Plate-2 for RS 210 - 1400, galv. Complete with
For assembly of Push-Pull Props RS 210, 260, 2 pc. 105400 Pin @ 20 x 140, galv.
300, 450, 650, 1000 and 1400. 2 pc. 018060 Cotter Pin 4/1, galv.
021 E
s =]
‘ 261 64
Accessories
124777 0,210  Anchor Bolt PERI 14/20 x 130
028010 17,900  Push-Pull Prop RSS | Note
Extension length L = 2.05 - 2.94 m. Permissible load see PERI Design Tables.
For aligning PERI formwork systems.
L min 2050 max 2940 N
= 1
o o [
Gﬂ g @16,5—mf>
. 1915 N
I 1
= [D=ir
028020 22,000  Push-Pull Prop RSS I Note
Extension length L = 2.91 — 3.80 m. Permissible load see PERI Design Tables.
For aligning PERI formwork systems.
L min 2910 max 3800 o
032
c 3 ) ° 5_I]f)
16,5 § o16,
. 2775 N
- ) 1 5
=t -5
028030 38,400 Push-Pull Prop RSS Il Note

Extension length L = 4.60 — 6.00 m.
For aligning PERI formwork systems.

Permissible load see PERI Design Tables.

| min 4600 max 6000

‘ 48,3

i o
. ?16,5 — g pos
L 4399 Q |
o | T
== — -2

28



SRS Circular Column Formwork

[tem no. Weight kg

PERI

106000 1,820 Base Plate-2 for RSS, galv. Complete with
For assembly of RSS Push-Pull Props. 1 pc. 027170 Pin @ 16 x 42, galv.
1 pc. 018060 Cotter Pin 4/1, galv.
%:I o011 3
Fa
150 100 | ¥
Accessories
124777 0,210  Anchor Bolt PERI 14/20 x 130
123846 3,690  Kicker AV 82 Note
Extension length L = 0.50 — 0.82 m. Permissible load see PERI Design Tables.
For aligning PERI formwork systems.
| min 500 max 820 |
‘ 030 ﬁ‘=ﬂ ‘
] ]| 1 jp_}
%—016,5 EJ é 016,5
390
‘o-:i: ] [[— II == il:
123847 4,280  Kicker AV 111 Note
Extension length L = 0.79 — 1.11 m. Permissible load see PERI Design Tables.
For aligning PERI formwork systems.
| min 790 max 1110 |
. |
<TIL 11 1 jg}
o165 ) 8 0165
. 690 N
o ) 1 o
“% = | e 0 = jﬁ
028110 5,180 Kicker AV 140 Complete with

Extension length L = 1.08 — 1.40 m.
For aligning PERI formwork systems.

1 pc. 027170 Pin @ 16 x 42, galv.

1 pc. 018060 Cotter Pin 4/1, galv.

Note

Permissible load see PERI Design Tables.

| min 1080 max 1400 )

230

Reuil| [
\m 6x42 J

980 |

of o (.
'}L:ﬁ:ul |n=4

@38

29



SRS Circular Column Formwork
ltem no. Weight kg

PERI

108135 12,900  Kicker AV 210

Extension length L = 1.28 = 2.10 m.
For aligning PERI formwork systems.

Complete with

1 pc. 027170 Pin @ 16 x 42, galv.

1 pc. 018060 Cotter Pin 4/1, galv.

Note

Permissible load see PERI Design Tables.

min 1280 max 2100

| /—236

»
o16x42 g rzne,sJ[lI
»

. 171
) |

“Fa 5 "t

028120 17,000  Kicker AV RSS Il

Extension length L = 2.03 — 2.92 m.
For aligning PERI formwork systems.

Complete with

1 pc. 027170 Pin @ 16 x 42, galv.

1 pc. 018060 Cotter Pin 4/1, galv.

Note

Permissible load see PERI Design Tables.

. min 2030 max 2920

»
@32 W
T s 3§ &
o
@16x42 IS 216,5
. 1915 R
) |

g1 -5

124777 0,210  Anchor Bolt PERI 14/20 x 130
For temporary fixation to reinforced concrete

structures.

Note

Wrench size SW 24.
Drilling @ 14 mm.
Technical Data

See PERI data sheet!

Sy,
014

| 0 |

I 1

30






The optimal System for every
Project and every Requirement

Slab Formwork

Shoring Systems

Access

Protection Scaffold

PERI GmbH

Formwork Scaffolding Engineering
Rudolf-Diesel-Strasse 19

89264 Weissenhorn

Germany

Tel. +49 (0)7309.950-0

Fax +49 (0)7309.951-0
info@peri.com

www.peri.com

System-Independent Accessories

Services

DEen 092014 3ma 790377 © PERI GmbH





